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Year 3 Maths - Addition Word Problems Worksheet
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Solve the following problems.

1. There are 20 red balloons and 4 blue balloons. How many balloons are
there altogether?
Answer:

2.Sarah read 11 pages on Monday and 37 pages on Tuesday. How many pages
did she read in total?
Answer:

3. Tom had 12 marbles. He bought 37 more. How many marbles does he have
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Answer:

4.Jack has 11 toy cars and his friend gave him 13 more. How many toy cars does
Jack have now?

Answer:
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» 5. A farmer had 39 cows and bought 49 more. How many cows does the farmer
< have now?

'< Answer:
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6. Lilly has 9 books and his friend gave him 12 more. How many books does Lilly
have now?

AANAANANANNY/S

Answer:

7. A shop had 8 pencils. It received 37 more. How many pencils are there now?

Answer:

8. There were 70 children in the class. Then 7 more came. How many children are
there now?
Answer:

9. A farmer had 9 sheep and bought 48 more. How many cows does the farmer have
now?

Answer:

V.V VVVVVVVVVVVVVVVVVVVVVN

2 10. Lily picked 15 oranges in the morning and 18 in the evening. How many apples
did she pick in total?

Answer:
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